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Exercice 1

Déterminer les racines des polynomes :

P(z) = —81 + 8122 Q(z)=—-T+6x+2> R(z)=8122+54z+9

Exercice 2

Déterminer les racines des polynomes :

P(z)=—5z> -5 Qz)=5+2>—6z R(z)=92%+16+ 24z

Exercice 3

Déterminer les racines des polynomes :

P(x) = 362" — 25 Q(z) = —2*+22+1 R(z)=1- 522

Exercice 4

Déterminer les racines des polynomes :

P(z)=12z+2*+9 Q(z)=—16z +42% + 16 R(z) =492% — 81

Exercice 5

Déterminer les racines des polynoémes :

P(z)=2—10z+9 Q(z) =32>+2x R(z)=52>+3

Exercice 6

Déterminer les racines des polynoémes :

P (z) = —81 + 362> Q(z)=—2®>—18z—6 R(z)=—62%+z
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